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If £:R° — R is defined by f(x,y)= 1 r_& i ! ./" o —
L0 = if (x,y)=(0,0) ,7‘ 4’7‘1/
Then g ’ =

-
(a) f,(0, 0) = 0 and £,(0, 0) = 0 (®) £0,0) = 1 and f(0,0) =0 T
neli i (@) £0,0) = 1 and (0, 0) = 1 A. '3 A, (
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Then -

(a) (0, 0) = 0 and £,(0, 0) = 0 (b) £(0, 0) = 1 and £(0, 0) rr -7 t"\l’

(c) £.00, 0) = 0 and £,(0, 0) = 1 (d) £.(0, 0) = 1 and [0, 0) = I
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The function fix, y)=3x"y + 4y’ ~3x" <12y’+ I has a .s'uc.l’d/k'puim‘ at
/ fay (1), 0 h) (0, 2) fe) (1, 1) (d) 271)
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7771 be a real valued function defined by f(x,y)=2 fr | x*yle j x>0,y>0.
a  of P
Then, the value =L+ y—— at any point (x,y), where x>0, y=0,is
of X dx Ty



